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General Instructions : 

Preparatory Course in General Mathematics (Revised) (OMT -101) 	Questions 1 - 50 

(i) This is an objective type question paper. Options for the correct answer must be marked 

only in OMR sheet. 

(ii) All questions are compulsory. 

(iii) The question paper consists of 50 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative I answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct then write 0 and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 

(vi) Use of calculators is not allowed. 
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1. One integer is greater than the other by + 4. If the greater integer is —16, then the 
other integer is 

(1) + 12 

(3) —12 

2. 100 — 4[25 — (5 + 12 — 9)1 = 

(1) — 32 

(3) + 32 

3. za + 
3 

— +  4  
100 1000 

(2) — 20 

(4) + 20 

(2) + 132 

(4) — 132 

(1) 25.034 
	

(2) 25.304 

(3) 25.634 
	

(4) 25.0034 

4. The fractions with the same denominator are called 	 fractions. 

(1) unit 	 (2) like 

(3) unlike 	 (4) equivalent 

5. A solution of the equation x + x + x = yx is 

(1) x = 6, y = 1 	 (2) x= 3, y=2 

(3) x = 2, y = 3 	 (4) x = 5, y = — 3 

1 6. The daily milk consumption of a family is 3 4 — L. The quantity of milk consumed by 

the family in the month of April 2015 is 

(1) 90 L 

1 
(3) 100 2 — L 

1 
(2) 97 2 — L 

(4) 98 L 

1 7. How many one-fourths need to be added to 2 4 — to make 4 ? 

(1) 3 	 (2) 4 

(3) 5 	 (4) 7 

8. If each entry of data is increased by 5, then the arithmetic mean 

(1) remains the same 
	

(2) increases by 5 

(3) is multiplied by 5 
	

(4) decreases by 5 
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(1) 

(3) 

100 

(1) 

(3) 

+ 12 

-12 

- 4[25 

-32 

+ 32 

-(5 + 12 -9)] = 2. 

(2) - 20 

(4) + 20 

(2) + 132 

(4) - 132 

1. 7•-  Tuft   + 4 	' I zft 'qT Trik -16 t, c till Trfk 	 

3. 25+ 3 — + 
 4 

 100 1000 

(1) 25.034 	 (2) 25.304 

(3) 25.634 	 (4) 25.0034 

4. tiHI1 	aid) fffa 	A 4UT4t # 

(1) 	 (2) 1:1147 

(3) 3W147 	 (4) gcrei 

5. ch(ui x+x+x=yxWt 

(1) x = 6, y = 1 
	

(2) x=3, y=2 

(3) x = 2, y = 3 
	

(4) x = 5, y = -3 

1  rl   4 
6. TritqFT 41 	41' 3AR4 	kg'irl 3- ne.k I aft 2015* 	 tfit4TT 	 

4 
TT *1 -grr-gr 

(2) 

(4) 

1 
(1) 	90 cone.t 

1 

97-
2 	

a 

(3) 	100-
2 
 ne.t 98 (41dt 

7. 4 6i-A * rrI 2 1 
	

We 	R-- -412tri LIP ? 
4 

(1) 	3 (2) 4 

(3) 	5 (4) 7 

8. ark aftt Al Aft Ar4R 5 -4•1 t ITTUF 

(1) 	c0 (2) 5 fsi4iii 

(3) 	5 	TIT (4) 5 off 
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(2) 0 

(4) — 16 

(2) => 

(4) fi 

(1) 122 

(3) 16 

12. The mirror image in the case 

4-- mirror 

is 

(3) 

5 
9. If -7- of 49 + 20% of 130 = x + 49, then x is 

	

(1) 10 
	

(2) 12 

	

(3) 16 
	

(4) 18 

10. — 3is 
0 

(1) a positive rational number 

(2) a negative rational number 

(3) either a positive or a negative rational number 

(4) neither a positive nor a negative rational number 

11. 
If 8 4 

+ = 6 , then a is 

2  rd 	 3  th 
13. — 

3 	 4 
of a number when multiplied by — of the same number gives 338. What is the 

number ? 

(1) 18 (2) 24 

(3) 36 (4) 26 

Dividend is calculated on 

(1) face value (2) market value 

(3) brokerage (4) debentures 

14.  

OMT-101 



71t 49 	—5  + 130W .  20% = x + 49, T4 x 
7 

(1) 10 (2) 12 

(3) 16 (4) 18 

— 3 

(1)  7T 14-41-c-TF (-1(94.11 

(2)  -cr-  tI 

(3)  ZIT t t141cli ZIT ItulIclich LifkAel Zitkll 

(4)  R.  t UR7-1:1 3 	t ituilcHcb TO* flt9411 

11.
8 

 zit 1-1-
4

+-!1-=6,W4 at 

(1) 122 (2) 0 

(3) 16 (4) — 16 

9.  

10.  

12. F- cyur 

qiul A 4-61•4;Err 	 ? 

(1) Cr__I 

(3) V 

13. IA "Wt kit9en 	
3 	 4 

.341 W.9ell 	-3— 14 Ltull i*Zif Alc11 t, a) 338 371k 31rFi 	di t 

(2) 24 

(4) 26 

14. 'MOT *t 1 M•I1 	 ? 

(1) afta. 11., 	 (2) 	1Fr l 

(3) 	ffrd't ("1--A') 
	

(4) -*-1371-11 (WW1) ITT 
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15.  If 5 P(x, 3) = 4 P(n + 1, 3), then n is 

(1) 	10 

(3) 	12 

(2) 

(4) 

11 

14 

16.  If the two sides of a triangle are 3 cm and 8 cm respectively, the third side cannot be 

(1) 	< 11 cm (2) > 5 cm 

(3) 	= 5 cm (4) = 8 cm 

17. [ 	2)(- 2) (- 	is equal to 

(1) 	64 (2) 
1 

— 
64 

(3) 	-64 (4) - —
1 

64 

18. If the length and width of a tape are 2 m and 28 cm respectively, they are in the ratio 
of 

(1) 	100: 16 (2) 7 : 50 

(3) 	50 : 7 (4) 1 : 8 

19. The point (0, 0) is equidistant from the following pair of points : 

(1) 	(- 1, 0), (1, 0) (2) (- 2, 0), (1, 0) 

20.  

(3) 	(0, 2), (0, 1) 

x (y - z) - y (z - x) - z (x - 	= 

(4) (0, - 2), (0, -1) 

(1) 	2x (y - z) (2) 2y (x - z) 

(3) 	2x (z - y) (4) 2y (z - x) 

21.  The Roman numeral for 80 is 

(1) 	DOC( (2) XXC 

(3) 	IIXC (4) VXC 

22.  If a = 14, b  = 40, c  = 04 and d = 4 1, then 

(1) 	a = b (2) b =c 

(3) 	a= c (4) a =d 
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15. qfq 5 P(x, 3) = 4 P(n + 1, 3), 	n 

16. zrft 

(1) 

(3) 

(1) 

(3) 

4-et 

10 

12 

(2) 

(4) 

11 

14 

fgp. 	TAT1 9t)Hki: 3 
wet ? 

8 	4-1.1 

(2) 

(4) 

414 TAT PHro rt 

<11 > 5 

= 5 4-11 = 8 4 

17. [ (- 2)(-- 2) (- 
 3) *4 qkI R 	? 

1 
(1) 64 (2) 

64 

(3) - 64 (4) - 1 
64 

18. ei q t 	A' A-44 st-d-lkl: 2 3t1K 28 ', c 	3.i q i aiTTM 

(1) 100 : 16 (2) 7 : 50 

(3) 50 : 7 (4) 1 : 8 

: 19. (0, 	tsid 	1 	3 	14 TrITT:2Tt 

(1) (- 1, 0), (1, 0) (2) (- 2, 0), (1, 0) 

(3) (0, 2), (0, 1) (4) (0, - 2), (0, - 1) 

20. x (y - z) - y (z - x) - z (x 7 y) = 

(1) 2x (y - z) (2) 2y (x - z) 

(3) 2x (z - y) (4) 2y (z - x) 

21. 80* kitseuch 

(1) LXXX (2) XXC 

(3) IIXC (4) VXC 

22.  a = 14, b = 40, c = 04  311K d = 41 , t qR 

(1) a = b (2) b = c 

(3) a = c (4) a = d 
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23. Which of the following is a measure of central tendency ? 

(1) Mean deviation 
	

(2) Variance 

(3) Mode 
	

(4) Standard deviation 

24. If P(A) = —
13 

P(B) = —
4

, P(A U B) = —
16 

then P(A fl B) is equal to 
52 	52 	 52 

(1) 

(3) 

1 
52 

2 

52 

(2) 

(4) 

—
9 

52 

12 

25. Which one of the following is not a postulate for geometry ? 

(1) For any two points there is exactly one line that contains them. 

(2) For any three non-collinear points there is exactly one plane that contains them. 

(3) For every pair of parallel lines there is exactly one plane that contains them. 

(4) For every pair of points there is a unique positive number which is the distance 
between them. 

26. A rectangle has the area equal to that of a square of side 80 cm. If the length of the 

rectangle is 160 cm, its breadth is 

(1) 60 cm 	 (2) 40 cm 

(3) 20 cm 	 (4) 30 cm 

27. If the HCF of two numbers is 24, which of the following can be their LCM ? 

(1) 12 	 (2) 18 

(3) 36 	 (4) 48 

28. The digits of a two-digit number differ by 5. If you interchange the digits, the sum of 

the resulting number and the original number is 99. Then the original number is 

(1) 43 
	

(2) 45 

(3) 36 
	

(4) 27 
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23. 144-iroRgo 	4-1-1T(*-4(4 3r-11 Trmq ? 

(1) Trrizr 1-4q--eq 
	

(2) witui 

(3 ) 	--TT 
	

(4) 1-11-11.) 149.97 

24. zlt P(A) = , P(B) = 4  , P(A U B) = 16 
	P(A B) "ftl* eithsR t ? 

52' 	52' 	 52' 

(1) 

(3) 

1 
52 

2 
52 

(2) 

(4) 

9 
52 

7 
12 

25. PH 	(go AA-  4i-Tr 	,3-e4AR-1* -R-R al-r'reff Ref t ? 

(1) f*-7-gi- 	f4TA- 	- 111(sti 6141* NRA aTrfttsE 	t I 

(2) f 	311,41g Psp-saA * 1Z,R 4).zm 	t IT kiiiori alcii t fwrIl aiftz 

t I 

(3) -kg 	"Si" 	rm 	-R.- tt 	 "NRA-  aTrktz 	 

t I 

(4) fp-saA *Tr--  TA* c.,R 	3ferzi tr-41-cW kitsql cit 	3-1 4N.  41 

26. 1 374ff 	4-Ith-rr 80 
	

0:Fa 	Giosk t I zrit al-r-zrff 
1604t,t T(4r410t 

(1) 60 Alft 
	

(2) 40 	1-11 

(3) 20 
	

(4) 30 	 

27. 	titseli311 	1-1 14 -1 1-114cicict) (HCF) 24 t, 	d-lchl 	r kil-114c1c4 (LCM) 

fa 	 kicbdi t ? 

(1) 12 
	

(2) 18 

(3) 36 
	

(4) 48 

28. t 3 	kit9,41* *04 5 w afaT 1/Tit aTrq 	A=t arcar-A-01.  entd t, si-rFr 
atql1 kitsen *To 4t.9.,-ii•wr z1)7Tth 99 	I 	1.0 fit.90-11 

(1) 43 (2) 45 

(3) 36 (4) 27 
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29. The coefficient of z in x 2y + yz — 3xz + y2  is 

(1) y 
	

(2) -- 3x 

(3) y + 3x 
	

(4) y — 3x 

30. How many diagonals are there in a pentagon ? 

(1) Two 	 (2) Three 

(3) Five 	 (4) Seven 

31. In a A PQR, PR = PQ and Q = 2 Z P, then Z Q is 

(1) 72° 
	

(2) 36° 

(3) 144° 
	

(4) 108° 

32. (I + 2)2  — ( 	— 2)2  = 

(1) 8 Nid 
	

(2) 14 

(3) 14 + 8 -N,/d 
	

(4) 14 — 8 -jd 

33. Two successive discounts of 40% and 30% on an article is equivalent to a single 

discount of 

(1) 42% 	 (2) 70% 

(3) 56% 	 (4) 58% 

34. 1 m3  = 	 

(1) 10 

(3) 1000 

 

litres. 

 

  

(2) 100 

(4) 10000 

35. Which of the following is true ? 

(1) Every quadrilateral is a parallelogram. 

(2) Every parallelogram is a rhombus. 

(3) Every kite is a rhombus. 

(4) Every rectangle is a parallelogram. 
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29. x2y + yz - 3xz + y2  zf TIN" t 

(1) y 

(3) y + 3x 

30. ti91j7 %A 1-4Tuf 	 ? 

(1) t 

(3) ITN 

(2) - 3x 

(4) y - 3x 

(4) TrIff 

31. APQRA, PR=PQ 3 ZQ=2LP, c LQt 

(1) 72° 	 (2) 36° 

(3) 144° 	 (4) 108° 

32. (-%/ + 2)2  - ( V-3" - 2)2  = 

(1) 8,rd 
	

(2) 14 

(3) 14 + 8 .13- 
	

(4) 14 - 8/ 

33. 7 	ITT 40% 3* 30%*ft drit 	17 	% )c-i W  grei ? 

(1) 42% 

(3) 56% 

(2) 70% 

(4) 58% 

(2) 100 

(4) 10000 

34. 1 m3 = 	 d't I 

(1) 10 

(3) 1000 

35. Pi-i 	1)- 	71- f ? 

(1) -51* -1317 	VT -17 	tilt I 

(2) "SkT tHi-m W§417 TP:f9T17 	t I 

(3) m ct) TOrrril-a-gij7 61cii t I 

(4) "SkT aTizrd 1 kvii-m 	@di t 
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20 cm 

E 

30 cm -->1 

(1) 300 cm2 
	

(2) 150 cm2  

(3) 450 cm2 
	

(4) 400 cm2  

36. A sum of 1,600 lent at simple interest of 12.5% p.a. will become twice in 

(1) 8 years 
	

(2) 16 years 

(3) 12 years 
	

(4) 20 years 

37. How many pieces of equal size can be cut from a cloth of 30 m length each measuring 

3 3  m? 
4 

(1) 8 	 (2) 10 

(3) 6 	 (4) 12 

38. The value of V1 3  + 23  + 33  is 

(1) 6 
	

(2) 5 

(3) 7 
	

(4) 8 

39. In a box, there are 8 red, 7 blue and 6 green balls. One ball is picked up randomly. 

What is the probability that it is neither blue nor green ? 

(1) 

(3) 

2 

3 

3 

7 

(2) 

(4) 

8 
21 

9 

22 

40. If E, G, F are mid-points of AB, AD and DC respectively, then the area of the shaded 
region is 

41. 	The degree measurement of the angle between the hands of a clock at 2 o'clock is 

(1) 60° (2) 180° 

(3) 45° (4) 90° 
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20 141# G 

A 

11V60-1■-  ■•■■•■ 

4 
■ 	■•■•  • .4 I 

■ 
■ 	■• 

■ .A-411■■■-40-1 

 

E 
30 41ft 

F D C 

B 

36. 12.5% cII cb•q* TFTITRut V-11‘31 TIT ZITIK t 	1,600 *I' tIRlIfOT f+74 11:RT 	-ef 
	 ? 

(1) 8 1 	 (2) 16 

(3) 12 'WEI 	 (4) 20 .44 

37. 30*. *al* q 	3-3- t. TTfk-d4 cRIGR 3TrWR 3-4 cbi?. 71 k1q 	# ? 
4 

(1) 8 
	

(2) 10 

(3) 6 
	

(4) 12 

38. V13  + 23  + 33  "T -1:19' 

(1) 6 	 (2) 5 

(3) 7 	 (4) 8 

39. 7C" Re4 (Ti)A -41: 4, 8 clio, 7 	3 6 #t "4 # 14-i4 7" A-4 tilimotil dc3141 	t 
*rwNAct)cuti*qt 	afiKt#F? 

(2) 	
8 

21 

(4) —
9 

22 

40. zrfk E, G, F st)&m: AB, AD alIK DC* Trar-f.-s t, T4 oigigit 

(1) 

(3) 

2 

3 

3 

7 

(1) 300 	A-11 2 
	

(2) 150 2 
 

(3) 450 2 	 (4) 400 2  

41. 2W4102rtrT1*Atq'cbuiWfttill:ITErt 

(1) 60° 	 (2) 180° 

(3) 45° 	 (4) 90° 
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42. 

43. 

The mean of the first five natural numbers is 

(1) 	5 	 (2) 	3 

(3) 	2 	 (4) 	4 

According to the diagram, which of the following is correct ? 

(1) A c B 
	

(2) A n B = ol) 

(3) AUB=C 
	

(4) Anc#0 

44. Find the radius of the cylinder whose curved surface area is 704 cm 2  and the height is 

8 cm. (n = —
22

) 
7 

(1) 6 cm 
	

(2) 4 cm 

(3) 8 cm 
	

(4) 14 cm 

45. How many corners does this shape below have ? 

(1) 6 (2) 10 

(3) 12 (4) 13 

46. The letter B has 

(1) rotational symmetry 

(2) line symmetry 

(3) both rotational and line symmetry 

(4) no symmetry 
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42. 3i211:14N tr4114 (mivi) titgela cif 1Tful.  

(1) 5 	 (2) 3 

(3) 2 	 (4) 4 

43. aft* ai-gu PH 	-4 A.  4) 4-Err ki41 t ? 

(1) A c B 
	

(2) A n B = (t) 

(3) AUB=C 
	

(4) A n 

44. t  k 0.1 "NIT*1 -4W tplIzt 0-1tb-F 704 

.-ra. *fr77 I (7C 
7 

	 8 4141 t, 	1 Nreit 

(2) 4 	 

(4) 14 

(1) 6 

(3) 8 

45. 4 	T1 31T is 	? 

1 

(1) 6 (2) 10 

(3) 12 (4) 13 

46. 3R-R B 

(1) Vi-1 TrITRA t 

(2) Itgi TP:TRA t 
(3) 311KItgl 1:11:fi:MW i•--1-1 

(4) ct)) 	Tef t 
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47. Among the following statements A, B and C, the correct statements are 

A. The difference of any two sides of a triangle is less than the third side. 

B. A triangle can't have an obtuse angle and a right angle. 

C. A triangle cannot have two obtuse angles. 

(1) Both A and B 	 (2) Both A and C 

(3) Both B and C 	 (4) A, B and C 

48. Which of the following is false ? 

(1) Mathematical statements should be unambiguous. 

(2) Every conjecture need not be true. 

(3) Mathematics is hierarchical. 

(4) There is only one way of proving any mathematical statement. 

49. According to the following pie chart, showing the agricultural production of 4 states 

A, B, C and D, which of the following statements is false ? 

(1) Agricultural production in A and B are equal. 

(2) Agricultural production in A is greater than the agricultural production in C. 

(3) Agricultural production in D is greater than the agricultural production in B. 

(4) Agricultural production in C is greater than the agricultural production in B. 

50. For the grouped data, median is given by the formula 

(1) m cm+  (E fi/2 — C)
L 	(2) M = + 

f. / 2 — 

C 	
Cm fm   

(3) M=C + (E fi/2 fin ) Cm 	(4) 	
[Efi/2 —C  

Cm  
L 1 	 fm  

fm  

OMT-101 	 18 



47. 	 w2T-q,T§f 3 rt 4 cn-I-Trr -2Tq (-0 ? 

t 	T3 	 TATS -11. 1citt 

f-xip.  4 aTrw ct>lut *Trgr*-1-14 41 (-ict 

7"' .  f-gp 4 t 	cblui Tef tict) 

(1) 	 (2) 

(3) 131 aTIT 	1.-11 	 (4) 	131 3IIK T1 

48. 	(go 4 	.1-Trr Wi t? 

(1) Tip 	aTkir-qu 	-rr-F 

(2) 3-134F ticti -16 61c1i t I 

(3) +Ir1n ti Hit) 1 14) t 1 

(4) 1-*-kt 	1 I1 	I cI1 1 WzRrte 	 cnt4 ITT 4pio •R'" 	 t 

49. -1 1-1 (s1c1 19ft/Zi 	argETT, 4 	A, B, C 34 D 	cp 3ct1lq-1 q.  i1 /T4T t 

	cl 4 .41-1-w warg arom ? 

(1) A atiK B 	VI 3c-41q-1 t1+-11-1 (elk161k) t 1 

(2) A  	C' 	3c-4 lc-1 14 Feitql t 

(3) D IA 3c41 	i B* cpf,:r drkilqgi 	t 

(4) C IA 	TR' 	A-  \relic! t 

50. Wtt-  a.  31131* -1, Trrrt2rwr To (TblitoT) cbl.i-Trr t ? 

(1) m 
c,.... m+ 	— (Efi /2c)  

L 	 (2) M = L + 
fm 	 1 

(3) M=C+ r Efi/2 —fm I Cm 	(4) M = Li  + 
Li 	) 

Efi /2 -fm ) 
C 

Efi /2 -C) 
 c 

f 	

m 

m 
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